5 -Digit Place Value Worksheet

The 5-digit number 62755 can be expanded in the form
60000 + 2000 + 700 + 50 + 5. That is,

62755 =60000 + 2000+ 700 + 50 + 5

Write the 5-digit number in the blank space given.

40,000 + 300 + 7 =

90,000 + 6,000 + 60 + 4 =

3 30,000 + 5,000 + 700 + 60 + 1 =

40,000 + 8,000 + 600 + 60 + 4 =

90,000 + 5,000 + 300 + 80 + 2 =

Find the missing numbers.

6] + 8000 + 500 + 50 + 3 = 98,553

10,000 + +700+70+6=16,776

+ 6,000 + 600 + 20 + 6 = 96,626

@ 20,000 + + 600 + 20 + 4 = 22,624

30,000 + O + + 20 + 4 = 30,524




